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Instructions to Contestants:
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There are 20 questions in this paper and the total score is 100.
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Unless otherwise stated, all numbers in this paper are in decimal system.
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All answers are integers between 0 and 9999 (including 0 and 9999). Follow the instructions

on the answer sheet to enter the answers. You are not required to hand in your steps of working.
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The use of calculators is not allowed.
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The diagrams in this paper are not necessarily drawn to scale.
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Purple multiplied together all positive integers less than 1000000 which are
multiples of 2007 with unit digit non-zero. What are the last four digits of the

product? (3 marks)
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Let n be an integer greater than 1. When computing n" , Wendy wrongly regarded

the expression as (n")" , but accidentally got the correct answer. Find n. (3 marks)
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Find the area of the quadrilateral in the figure. 4

(Round off the answer to the nearest integer if

necessary.) 6 (3 marks)
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The numbers 1 to 6 are to be filled into the six

circles in the figure. The sum of the three numbers

in the three circles on each side is then computed ~
and the three sums are added up. What is the ~
smallest possible value of the result obtained? (3 marks)
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Kiki brings n coins, each of denomination $1, $2, $5 or $10, for shopping. She

plans to buy an article whose price (in dollars) is an integer and which does not

exceed $100. She is sure that she can pay the exact amount of the article. Find the

smallest possible value of 7. (4 marks)
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At most how many interior angles of a 2007-sided polygon may be larger than
270°?
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A boy wants to buy a child ticket of a theme park which costs $210 and which
accepts only exact amounts. If he has twenty $5 coins and twenty $10 coins, in

how many different ways can he pay for the tickets?
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In a country, salaries tax is to be paid on a monthly basis and applies to all citizens
with a monthly salary exceeding $4000. The salaries tax is 20% of the monthly
income after deduction of an allowance of $4000. This month, Mr Chan has his
income increased by 10%, and the amount of salaries tax he has to pay is 20%
greater than in the previous month. What is the amount (in dollars) of salaries tax
that Mr Chan has to pay this month?
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Let k be a positive integer. If the system of equations has integer
3x-2y+k=0

solutions in x and y, find the smallest possible value of .
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What is the least number of integers that must be chosen from 1, 2, ..., 100 to

ensure that we must be able to find two of the chosen integers whose sum has unit
digit 77
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(5 marks)

(573)

(5 marks)
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In a certain school, there are n students in Secondary 3A, where 1 <n<45. The

class constructed a pie chart entitled ‘The favourite subject of 3A students’. The

sector representing ‘Mathematics’ has an angle of 285°. Find n.
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In the figure, AFD, BFE, BDC and AEC are straight
lines with BD:DC=2:3 , AE:EC=4:5 and F
AF :FD = x:y, where x, y are integers with H.C.F. 1.

Find xy. D
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Let [x] denote the greatest integer not exceeding x. For example, [1.1] =1, [6.9] =
6 and [5] =5.If [2y]=5 and [3y] =7, find the sum of all possible values of [10y].
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Laura and Molly live on two ends of a road. One day, they started driving towards
each other at noon. Originally, they should meet at 2:00 pm. However, Laura found
that she left something at home at 1:00 pm, so she drove back to home at that time.
She restarted her journey as soon as she was back to home. Finally they met at 2:40
pm. Assuming that their speeds remained unchanged throughout the journey and
Laura’s speed was 14km/h, what is the length of the road (in km)?
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(5 marks)

(573)

(5 marks)

(653)

(6 marks)

(653)

(6 marks)
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A day is said to be ‘good’ if the product of the ‘month’ and the ‘day’ is a
composite number. For example, since 1x27 =27 and 27 is a composite number,
we say that 27th January is a ‘good day’. What is the maximum possible number of

consecutive ‘good days’? (6 marks)
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A country is in the shape of a square and is divided into 24 30

four regions as shown. There are some parks in the country
and each park lies in one region or across two neighbouring
regions (i.e. regions with a common edge in the figure).
The integer in each region denotes the number of parks

which lie wholly or partly in the region. What is the

minimum total number of parks in the country? (6 marks)
= (T O (R AL 8 - ) 20 (TR < E) 2 D 2 (653)

A convex polyhedron has 20 vertices and each of its faces is a pentagon. How

many edges does it have? (6 marks)
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Given A, B, C, x, y, z are integers greater than 1 such that A<B<C and
xyz =105 . There are x prime numbers between 1 and A (inclusive, same for
below), y prime numbers between A+1 and B, and z prime numbers between B +1

and C. How many sets of possible values of (A, B, C) are there? (7 marks)
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In the addition shown, each letter represents a different BCA

integer from 1 to 9. Find the four-digit number represented CAB
by DEFG. + CBA (7 marks)
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Someone wrote down a three-digit number N and five others made some guesses

on the value of N.

A said, ‘N is divisible by 27.

B said, ‘N is divisible by 11.’

C said, ‘The sum of the digits of Nis 15.’
D said, ‘N is a square number.’

E said, ‘N is a factor of 648000.’

It is known that among the five guesses, three were correct and two were wrong.
Find N. (8 marks)
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